



PHYTOSANITARY CERTIFICATE

No. PC-27I4DSPRG7N2N0

PHYTOSANITARY CERTIFICATE	No. PC-2/14DSPRG/N
FROM: Plant Protection Organization of	TO: Plant Protection Organization(s) of United Arab Emirates (the)
Uganda	
	OF CONSIGNMENT
Name and Address of Exporter	Declared Name and Address of Consignee
Vitapure Uganda limited	Almajarah Vegetable and Fruits Trading LLC
P.O Box 28113 Kawempe Kampala-Uganda +256775406469	Alnahdah Dubai info@almajarah.biz
Uganda	United Arab Emirates (the)
Declared Means of Conveyance	Declared Point of Entry
Air transport - Ethiopian Airline - 071 - 5745 - 8586	Dubai World Central Apt (AE)
Distinguishing Marks	
VITAPURE	
Seal Number	
None	
II. CON	MMODITIES
1 Name of Produce and Quantity	Place of Origin
Botanical Name/Common Name: Passiflora edulis/PASSION FRUITS, Description of the Commodity: 4 boxes each weighing 9.5 kg; Plant Part: fruits; Intended Use: consumption; Condition: fresh; Gross Weight: 38 kg; Net Weight: 36 kg;	Buwama-Mpigi-Uganda
Number and Description of Packages	
4 Boxes	
Distinguishing Marks	
Farmer Traceability code is UG/105/005/24122845	
ADDITIONAL DECLARATION	
The consignment was inspected and found free from pests of phy absoluta.	tosanitary significance including spodoptera frudiperda and tuta-
ADDITIONAL OFFICIAL PHYTOSANITARY INFORMATION	
Fresh produce	
Additional Information	
Import Permit Number: None	Date of 10-09-2025 17:40 Inspection:
2 Name of Produce and Quantity	Place of Origin
Botanical Name/Common Name: Ipomoea batatas/SWEET POTATOES, Description of the Commodity : 76 boxes each weighing 9.5 kg; Plant Part:tubers; Intended Use:consumption; Condition:fresh; Gross Weight : 722 kg; Net Weight : 684 kg;	Buwama-Mpigi-Uganda
Number and Description of Packages	
76 Boxes	
Distinguishing Marks	
Farmer Traceability code is UG/420/013/24112750	

Place of Issue Entebbe Name of authorized Kembabazi Brendah



10-09-2025 Date:

Signature:

No financial liability with respect to this certificate shall attach to THE REPUBLIC OF UGANDA or to any of its officers or representatives.



PHYTOSANITARY CERTIFICATE		No. PC-27I4DSPRG7N2N
ADDITIONAL DECLARATION		
The consignment was inspected and found free from pests of phytoabsoluta.	osanitary significance including spodop	tera frudiperda and tuta-
ADDITIONAL OFFICIAL PHYTOSANITARY INFORMATION		
Fresh produce		
Additional Information		
Import Permit Number: None	Date of Inspection:	10-09-2025 17:40
3 Name of Produce and Quantity	Place of Origin	
Botanical Name/Common Name: xanthosoma sigitifolium/YAMS, Description of the Commodity: 12 boxes each weighing 9.5 kg; Plant Part: corms; Intended Use: consumption; Condition: fresh; Gross Weight: 120 kg; Net Weight: 108 kg;	of Buwama-Mpigi-Uganda	
Number and Description of Packages		
12 Boxes		
Distinguishing Marks		
Farmer Traceability code is UG/126/300/24112751		
ADDITIONAL DECLARATION		
The consignment was inspected and found free from pests of phytoabsoluta.	sanitary significance including spodop	tera frudiperda and tuta-
ADDITIONAL OFFICIAL PHYTOSANITARY INFORMATION		
Fresh produce		
Additional Information		
Import Permit Number: None	Date of Inspection:	10-09-2025 17:40
4 Name of Produce and Quantity	Place of Origin	
Botanical Name/Common Name: Solanum tuberosum/IRISH POTATOES, Description of the Commodity: 20 boxes each weighing 9.5 kg; Plant Part:minitubers; Intended Use:consumption; Condition:fresh; Gross Weight: 190 kg; Net Weight: 180 kg;	Buwama-Mpigi-Uganda	
Number and Description of Packages		
20 Boxes	·	

20 Boxes

Distinguishing Marks

Farmer Traceability code is UG/103/0275/24112750

ADDITIONAL DECLARATION

The consignment was inspected and found free from pests of phytosanitary significance including spodoptera frudiperda and tutaabsoluta.

ADDITIONAL OFFICIAL PHYTOSANITARY INFORMATION

Fresh produce

Place of Issue Entebbe

or representatives.

Name of authorized Kembabazi Brendah



10-09-2025 Date:

Signature:

No financial liability with respect to this certificate shall attach to THE REPUBLIC OF UGANDA or to any of its officers

Version 1.9.0

Page 2 of 7





PH	YTOSANITARY CERTIFICATE		No. PC-2714DSPRG7N2N0
Add	litional Information		
Imp	ort Permit Number: None	Date of Inspection:	10-09-2025 17:40
5	Name of Produce and Quantity	Place of Origin	
Desc Part:	nical Name/Common Name: Saccharum officinarum/SUGARCANE, ription of the Commodity : 15 boxes each weighing 9.5 kg; Plant stems; Intended Use: consumption; Condition: fresh; s Weight : 142.5 kg; Net Weight : 135 kg;	Buwama-Mpigi-Uganda	
Nun	nber and Description of Packages		
15 E	Boxes		
Dist	tinguishing Marks		
Farn	ner Traceability code is UG/415/032/24112752		
ADE	DITIONAL DECLARATION		
	consignment was inspected and found free from pests of phytosoluta.	sanitary significance including spodopt	era frudiperda and tuta-
ADE	DITIONAL OFFICIAL PHYTOSANITARY INFORMATION		
Fres	h produce		
Add	litional Information		
lmp	ort Permit Number: None	Date of Inspection:	10-09-2025 17:40
6	Name of Produce and Quantity	Place of Origin	
the C Use:	nical Name/Common Name: <i>Musa acuminata</i> /MATOOKE, Description of Commodity: 30 boxes each weighing 9.5 kg; Plant Part:fruits; Intended consumption; Condition:fresh; s Weight: 285 kg; Net Weight: 270 kg;	Buwama-Mpigi-Uganda	
Nun	nber and Description of Packages		
30 E	Boxes		
Dist	tinguishing Marks		
Farn	ner Traceability code is UG/103/009/24112750		
	DITIONAL DECLARATION		
abso	consignment was inspected and found free from pests of phytos pluta.	sanitary significance including spodopt	era frudiperda and tuta-
ADE	DITIONAL OFFICIAL PHYTOSANITARY INFORMATION		
Fres	h produce		
Add	litional Information		
Imp	ort Permit Number: None	Date of Inspection:	10-09-2025 17:40
7	Name of Produce and Quantity	Place of Origin	
the O	nical Name/Common Name: <i>Persea americana</i> /AVOCADO, Description of Commodity: 60 boxes each weighing 9.5 kg; Plant Part:fruits; Intended consumption; Condition:fresh; s Weight: 570 kg; Net Weight: 540 kg;	Buwama-Mpigi-Uganda	
	Place of Issue Entenhe	Name of authorized Kembal	hazi Brendah



10-09-2025 Signature: Date:

No financial liability with respect to this certificate shall attach to THE REPUBLIC OF UGANDA or to any of its officers or representatives.

Version 1.9.0

Page 3 of 7



PHYTOSANITARY CERTIFICATE		No. PC-2714DSPRG7N2N
Number and Description of Packages		
60 Boxes		
Distinguishing Marks		
Farmer Traceability code is UG/415/007/24112749		
ADDITIONAL DECLARATION		
The consignment was inspected and found free from pests of phytogabsoluta.	sanitary significance including spodop	tera frudiperda and tuta-
ADDITIONAL OFFICIAL PHYTOSANITARY INFORMATION		
Fresh produce		
Additional Information		
Import Permit Number: None	Date of Inspection:	10-09-2025 17:40
8 Name of Produce and Quantity	Place of Origin	
Botanical Name/Common Name: Manihot esculenta/CASSAVA, Description of the Commodity: 25 boxes each weighing 10 kg; Plant Part: tubers; Intended Use: consumption; Condition: fresh; Gross Weight: 250 kg; Net Weight: 225 kg;	Buwama-Mpigi-Uganda	
Number and Description of Packages		
25 Boxes		
Distinguishing Marks		
Farmer Traceability code is UG/106/443/35200		
ADDITIONAL DECLARATION		
The consignment was inspected and found free from pests of phytoabsoluta.	sanitary significance including spodop	tera frudiperda and tuta-
ADDITIONAL OFFICIAL PHYTOSANITARY INFORMATION		
Fresh produce		
Additional Information		
Import Permit Number: None	Date of Inspection:	10-09-2025 17:40
9 Name of Produce and Quantity	Place of Origin	
Botanical Name/Common Name: Artocarpus heterophllus/JACKFRUITS ,	Buwama-Mpigi-Uganda	

	9	Name of Produce and Quantity	Place of Origin
D P	escr art:f	nical Name/Common Name: <i>Artocarpus heterophllus</i> /JACKFRUITS , ription of the Commodity : 4 boxes each weighing 9.5 kg; Plant ruits; Intended Use:consumption; Condition:fresh; s Weight :38 kg; Net Weight : 36 kg;	Buwama-Mpigi-Uganda
Г	lum	ber and Description of Packages	

4 Boxes

Distinguishing Marks

Farmer Traceability code is UG/106/038/24112757

ADDITIONAL DECLARATION

The consignment was inspected and found free from pests of phytosanitary significance including spodoptera frudiperda and tutaabsoluta.

ADDITIONAL OFFICIAL PHYTOSANITARY INFORMATION

Fresh produce

Place of Issue Entebbe Name of authorized Kembabazi Brendah



10-09-2025 Date:

Signature:



No financial liability with respect to this certificate shall attach to THE REPUBLIC OF UGANDA or to any of its officers or representatives.





PHYTOSANITARY CERTIFICATE	No. PC-27I4DSPRG7N2
Additional Information	
mport Permit Number: None	Date of 10-09-2025 17:40 Inspection:
10 Name of Produce and Quantity	Place of Origin
Potanical Name/Common Name: Glycine max/NUMA RICE FLOUR, Description of the Commodity: 12 boxes each weighing 10.5 kg; Plant Part: grain; Intended Use: consumption; Condition: dried and semi proceed; Gross Weight: 126 kg; Net Weight: 120 kg;	KAMPALA-UGANDA -Uganda,Buwama-Mpigi-Uganda,Kampala -Uganda
lumber and Description of Packages	
2 Boxes	
Distinguishing Marks	
armer Traceability code is as labelled	
ADDITIONAL DECLARATION	
he consignment was inspected and found free from pests of phyto absoluta.	sanitary significance including spodoptera frudiperda and tuta-
ADDITIONAL OFFICIAL PHYTOSANITARY INFORMATION	
Processed produces	
Additional Information	
mport Permit Number: None	Date of 10-09-2025 17:40 Inspection:
11 Name of Produce and Quantity	Place of Origin
Botanical Name/Common Name: Glycine max/Soya Maize Flour, Description of the Commodity: 9 boxes each weighing 10.5 kg; Plant Part: grain; Intended Use: Consumption; Condition: dried and semi proceed; Gross Weight: 94.5 kg; Net Weight: 90 kg;	Kampala -Uganda
Number and Description of Packages	
9 Boxes	
Distinguishing Marks	
armer Traceability code is as labelled	
ADDITIONAL DECLARATION	
The consignment was inspected and found free from pests of phyto absoluta.	sanitary significance including spodoptera frudiperda and tuta-
ADDITIONAL OFFICIAL PHYTOSANITARY INFORMATION	
Processed produces	
Additional Information	
mport Permit Number: None	Date of 10-09-2025 17:40 Inspection:
12 Name of Produce and Quantity	Place of Origin
Botanical Name/Common Name: <i>Zea mays</i> /Numa Karo Maize Flour , Description of the Commodity : 20 boxes each weighing 10.5 kg; Plant Part:grain; Intended Use:consumption; Condition:dried and semi proceed; Gross Weight :210 kg; Net Weight : 200 kg;	Kampala -Uganda
Place of Issue Entebbe	Name of authorized Kembabazi Brendah



10-09-2025 Signature: Date:

No financial liability with respect to this certificate shall attach to THE REPUBLIC OF UGANDA or to any of its officers or representatives.



PHYTOSANITARY CERTIFICATE		No. PC-27I4DSPRG7N2NO
Number and Description of Packages		
20 Boxes		
Distinguishing Marks		
Farmer Traceability code is as labelled		
ADDITIONAL DECLARATION		
The consignment was inspected and found free from pests of phytoabsoluta.	osanitary significance including spodop	tera frudiperda and tuta-
ADDITIONAL OFFICIAL PHYTOSANITARY INFORMATION		
Processed produces		
Additional Information		
Import Permit Number: None	Date of Inspection:	10-09-2025 17:40
13 Name of Produce and Quantity	Place of Origin	
Botanical Name/Common Name: Panicum miliaceum /NUMA BUSHERA, Description of the Commodity: 24 boxes each weighing 10.5 kg; Plant Part: grain; Intended Use: consumption; Condition: dried and semi proceed; Gross Weight: 252 kg; Net Weight: 240 kg;	Kampala -Uganda	
Number and Description of Packages	•	
24 Boxes		
Distinguishing Marks		
Farmer Traceability code is as labelled		
ADDITIONAL DECLARATION		
The consignment was inspected and found free from pests of phytoabsoluta.	osanitary significance including spodop	tera frudiperda and tuta-
ADDITIONAL OFFICIAL PHYTOSANITARY INFORMATION		
Processed produces		
Additional Information		
Import Permit Number: None	Date of Inspection:	10-09-2025 17:40
14 Name of Produce and Quantity	Place of Origin	
Botanical Name/Common Name: Zea mays/Numa Power Maize Flour, Description of the Commodity: 60 boxes each weighing 10.5 kg; Plant Part: grain; Intended Use: consumption; Condition: dried and semi proceed; Gross Weight: 630 kg; Net Weight: 600 kg;	Kampala -Uganda	
Number and Description of Packages		
60 Boxes		
Distinguishing Marks		
Farmer Traceability code is as labelled		

ADDITIONAL DECLARATION

The consignment was inspected and found free from pests of phytosanitary significance including spodoptera frudiperda and tutaabsoluta.

ADDITIONAL OFFICIAL PHYTOSANITARY INFORMATION

Processed produces

Place of Issue Entebbe

Name of authorized Kembabazi Brendah



10-09-2025 Date: Signature:

No financial liability with respect to this certificate shall attach to THE REPUBLIC OF UGANDA or to any of its officers or representatives.

Version 1.9.0

Page 6 of 7





PHYTOSANITARY CERTIFICATE

No. PC-27I4DSPRG7N2N0

Additional Information				
Import Permit Number:	None	Date of Inspection:	10-09-2025 17:40	

This is to certify that the plants, plant product or other regulated articles described herein have been inspected and/or tested according to appropriate official procedures and are considered to be free from the quarantine pests, specified by the importing contracting party and to conform with the current phytosanitary requirements of the importing contracting party including those for regulated non-quarantine pests.

Place of Issue Entebbe

or representatives.

Name of authorized Kembabazi Brendah



Date: 10-09-2025

Signature:

No financial liability with respect to this certificate shall attach to THE REPUBLIC OF UGANDA or to any of its officers